Bt at? 1005245 - < KFELE 2 A8ikbg R

- E IR (28% 0 SR T 5Y)

BT (7%)
~ 335 = (™ (alter-globalization)  (7%)
. Flﬁ'r:t[ i ﬁg@%Jﬁfﬂ(Slngle transferable vote) (7%)

BRI (%)

- [ (12% > 23118 77)

* i F%J'?P (= S0P 2 BRI T*%’TPW (= [ S R Uz 4 2 (18%)
TR IR AT T rﬁ?ﬁ*ﬁ AR rﬁﬁéﬁ% S = rﬁ: 0B 7 (R (18%)

%F?uf_ () gl A R SR - (18%)

3 *F%Elﬁgic‘lﬂﬁdﬁiﬂél J E'FI,[%%[%X/%?% | 3Bt~ <<T+%jﬁgﬁ‘ AETEE ) %}BJ f:
ﬂﬁtﬁ*%ﬁbw WWW%@Uo B me%%%ﬁ%%iﬂgik%
i wﬁVﬁHWfWuﬁﬁ%wﬁﬁﬁ%ﬁ %@Wimwmwkna)<ﬁfﬁﬁ%
) A HREGELRL TG R S RL A A < (2) L R [ P (G
sﬁ%@ﬁ‘ S ) /%J—LF’ Lo (18%)

—,-,—1:1



